HEL Parameters  Definition Others profiled Fix others to SM
153 FIIT
ca X 104 Ca = m%,\,f_A —1.03_1.59 _0'78—1.16
AT TN +1.59 +1.10
~156 ~111
+3.20 +1.05
G g A2 +3.13 +1.03
—274 ~1.01
40.82 +0.69
cy % 10 c = g2 tu 0.68 g3 0.43" 60
! ! A +0.83 +0.68
~0.79 —0.67
+1.03 +0.31
cg x 10 cqg = —p2fi 0.5977 713 —0.0155%
a A +1.08 +0.30
~1.05 —028
+0.74 +0.60
cy x 10 P — A —0.57%973 —0.75"0 64
! A? +0.72 +0.58
—0.77 —0.60
+4.72 +0.84
cyw X 102 Cr — Mw frw —1.457553 0.77 215
HW = ¢ A +3.93 +1.04
—327 ~1.38
+2.84 +1.06
(cww — cg) X 102 cpppy = " fuuw 2.16753; 0.6271 7
WW = "¢ Az +3.46 +1.09
—5.00 -123



